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5 B Bt — COD¥EH! |A(F#BIA) i E‘&U\EEI? %;ﬁ_ﬁ
St.1 EXR-BED I GEBR) KFEKEREESE (=)
—RIEH _
7Kim (°C)
1 X [SsECC) =B fE 2 KE FERE Fiin 18 R
48] =Y 13.1 18.0 - 13.0 8.0 Gk kER-E|] B®E
68 g 25.0 22.0 — 13.0 8.5 BE kER-%| \BR
8H N 27.0 22.5 — 14.0 2.0 BE kER-%| BR
108 =) 24.4 25.6 - 13.0 3.7 BE kER-h| E|R
128] E=Y 14.0 19.1 - 13.0 7.5 BE Exfe-E| &R
28| fBh 6.3 14.5 - 11.0 10.0 BE | ERe-R]| R
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
EHE(75%IE) - 7.9 1.6(1.7) 5.3 <0.5 0.26 0.021
4H == 8.2 8.0 2.0 9.0 <0.5 0.13 0.015
hE - - - - - - -
65 == 8.1 7.8 1.7 13 <0.5 0.30 0.027
hE - - - - - - -
8H == 8.0 7.5 1.7 8.0 <0.5 0.40 0.034
8.1 7.5 1.1 0.0 <0.5 0.31 0.016
10A ;E ~ = = = — ~ —
8.2 7.9 1.6 2.0 <0.5 0.32 0.020
12R th B - = = = = = ~
25 == 8.0 8.6 1.4 0.0 <0.5 0.10 0.013
fE - - - - - - -
BEEIER (REDAEHA
NP INIESDY & ED Ao L IS fikéR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S00A
"y &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




FhS5400(1,3-040 — s yaea FAAR: on 1oe .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10A - - - - - - - -
124 - - - - - - - -
28] - - - - - - -
ZTNDIZH
Jx/—)L & Ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE : ; : : :
=B = = <1 - - -
4H ;E _ _ _ _ _ —
—_ —_ 3 —_ —_ —_
6 ﬁ ;E _ _ _ _ _ —
—_ —_ 3 —_ —_ —_
8 ﬁ ;E _ _ _ _ _ —
—_ —_ ‘I —_ —_ —_
108 ; E — — — — — —
128 ; E = ~ - — _ -
—_ —_ ‘I —_ —_ —_
2H g — — — — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHIE| 20000 - -
EE] 20000 - -
20000 - -
19000 - -
19000 - -
108 ; E ~ — —
20000 - -
128 ; E ~ — —
19000 - -
2H g = — —



THIVEE

A L C LK
5 B Bt — COD#E®! [A(E#EH) FEIERUVHRZESE
" St5 EF-BEY 1 ES) KFRKEREESE (=)
—iRI5H _
K& (°C)
1 X [SsECC) =E fE 2 KE FERE i 18 R
48 £ 12.3 17.0 - 18.0 10.0 BE kER-E| BR
68 N 26.5 22.0 — 18.0 10.0 BE kER-%| EBR
8H N 32.1 24.0 — 19.0 9.5 BE kER-%| EBR
108 £ 25.1 26.3 - 18.0 4.5 BE kER-h| E|R
128 Fh 14.1 19.0 - 18.0 9.4 BE Exfe-E| ER
2A| fBh 7.0 15.0 - 18.0 12.0 BE | ERe-R]| HRE
4FIRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
B (75%IE) - 8.0 1.5(1.7) 6.7 <0.5 0.17 0.014
48 == 8.2 8.3 1.6 23 <0.5 0.13 0.013
th 8 8.2 8.0 1.7 13 - 0.12 0.013
65 == 8.2 8.2 1.7 27 <0.5 0.17 0.012
th8 8.2 8.3 1.7 17 - 0.15 0.011
8H == 8.0 7.5 1.8 0.0 <0.5 0.32 0.023
th8 8.1 7.7 1.8 0.0 - 0.11 0.012
108 == 8.2 7.6 1.7 0.0 <0.5 0.25 0.014
th8 8.2 7.5 15 0.0 - 0.15 0.014
128 == 8.1 7.8 1.4 0.0 <0.5 0.17 0.009
th8 8.2 7.9 1.4 0.0 - 0.22 0.015
25 == 8.1 8.9 0.9 0.0 <0.5 0.09 0.013
thE 8.2 8.1 0.9 0.0 - 0.13 0.014
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLTF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 = <0.0005
47 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8AH - - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
2Al - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S00
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006LLF | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
47 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - - -




Th>90n

1,3-¥/n

FIRT

— o oS SN > ~ iﬁ&ﬁﬁ*&lﬂ
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| HXE{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
3F-§11i§ <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
2/ - - - - - - - -
6 8 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
sAl - - - - - - - -
108 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2R - - - - - - - -
ZTNDIEH
RILL
Jx/—)L gl SS 2% | r/oAkILLA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EF-ﬁﬂl_E <0.02 - 2 <0.005 <0.001 <0.008
=B - - 1 <0.005 - -
4ﬁ I:PE _ _ 2 _ _ _
68 =B <0.02 - 1 <0.005 <0.001 <0.008
S —— : ; : :
- - 4 <0.005 - -
8
Ao | - 3 - - -
108 —EE <0.02 - 2 <0.005 <0.001 <0.008
th g - - < - - -
=E - - <1 <0.005 - -
12R th S - - 2 = - -
=B - - <1 <0.005 - -
2
-ty I . .
(mg/1) (mg/1) (mg/1)
EBIE] 20000 - 0.01
4R EE] 20000 - <0.01
oh = 20000 - -
68 xE 20000 - <0.01
oh = 20000 - -
8H =B 19000 - 0.01
oh = 20000 - -
=B 19000 - <0.01
10A th S 19000 - -
=B 19000 - <0.01
124 th S 19000 - -
2A E AL 20000 - <0.01
8 19000 - -



THIVEE

A L C LK
5 B Bt — COD¥EH! [A(HH#EH) FEIERUVHRZESE
" St.6 EX-BEY I (EER) KFEKEREESE (=)
—iRI5H _
K& (°C)
1 X [SsECC) EA fE 2 KE FERE i =18 R
48 £ 12.9 16.5 - 23.0 12.0 BE kER-E| BR
68 N 225 20.5 — 23.0 15.0 BE kER-%| EBR
8H B4l 32.3 23.5 — 23.0 9.5 BE kER-%| \BR
108 £ 25.3 25.7 - 21.0 8.0 BE kER-h| E|R
128 Fh 15.0 19.1 - 24.0 9.5 BE Exfe-E| ER
28| fBh 714 15.0 - 24.0 15.0 BE | ERe-R]| R
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
B (75%IE) - 8.0 1.5(1.6) 0.67 <0.5 0.15 0.013
48 == 8.2 8.2 1.7 0.0 <0.5 0.13 0.015
th8 8.2 8.2 1.6 0.0 - 0.11 0.012
65 == 8.1 8.4 1.6 4.0 <0.5 0.22 0.012
th8 8.1 8.5 1.4 4.0 - 0.15 0.008
8H == 8.1 7.5 1.6 0.0 <0.5 0.16 0.017
th8 8.1 7.8 1.6 0.0 - 0.09 0.012
108 == 8.2 7.5 1.4 0.0 <0.5 0.24 0.012
th8 8.2 7.5 15 0.0 - 0.16 0.014
128 == 8.2 7.8 1.7 0.0 <0.5 0.16 0.010
th8 8.2 7.9 1.4 0.0 - 0.22 0.015
25 == 8.2 8.0 1.0 0.0 <0.5 0.09 0.013
thE 8.2 8.1 1.0 0.0 - 0.09 0.013
BEER (RBDHAEHAD
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLTF | JE#H | 0018 F | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 = <0.0005
47 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8H - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
2Al - - - - - - - -
ooroni| mie [1,2->2700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
47 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - - -




T39O0 |1,3-S450 = [N FARY Sn 45 . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ELAE{E] 0.01LLF 10.002LLF | 0.006LLF [ 0.003LLF | 0.02LLF | 001LLF | 0.01LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
48 = = = = = = = =
68| <o0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
128 - - - - - - - -
28l - - - - - - - -
ZTNDIEH
RV L
Jx/—) R SS 2% |(soakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE| <002 - 2 0.005 <0.001 <0.008
== - - {1 <0.005 - -
4ﬁ I:PE _ _ <1 _ _ _
65 == <0.02 — 3 0.005 <0.001 <0.008
e - - : ; - -
— — 3 <0.005 — —
8
Ao | - 3 - - -
108 == <0.02 — {1 <0.005 <0.001 <0.008
b= - - <1 - - -
== — — {1 <0.005 — —
12R th B - - 2 = - -
== — — {1 <0.005 — —
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
SEI9TE|_ 20000 - 0.01
45 =B 20000 - <0.01
] 20000 — —
65 =B 20000 — <0.01
] 20000 — —
8 g =B 20000 — 0.01
] 20000 — —
== 19000 — <0.01
10A th [E 19000 - -
== 19000 — 0.01
124 th [E 19000 - -
28 == 19000 — <0.01
B 19000 — —



